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Mixed ladder problems (1min per column) #4

50% of 78 = 21) 50% of 102 =
50% of 40 = 22) 50% of 24 =
50% of 18 = 23) 50% of 6 =
50% of 196 = 24) 50% of 16 =
25% of 36 = 25) 25% of 100 =
25% of 28 = 26) 25% of 4 =
25% of 40 = 27) 25% of 48 =
25% of 12 = 28) 25% of 44 =
20% of 50 = 29) 20% of 65 =
20% of 40 = 30) 20% of 25 =
20% of 55 = 31) 20% of 30 =
20% of 60 = 32) 20% of 90 =
148 4+ 1379 = 33) 136 + 422 =
1300 + 647 = 34) 282+ 376 =
446 4 1529 = 35) 649 4 1143 =
1852 + 331 = 36) 1719+ 63 =
9+29= 37) 3.54+9.7=
74478 = 38) 34+1.5=
42+22= 39) 3.7+58=
0.34+0.5 = 40) 4.548.9 =
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Mixed ladder problems (Imin per column) #4 (Solutions)

50% of 78 = 39
50% of 40 = 20
50% of 18 =9

50% of 196 = 98
25% of 36 =9

25% of 28 =7

25% of 40 = 10
25% of 12 =3

20% of 50 = 10
20% of 40 = 8

20% of 55 =11
20% of 60 = 12
148 + 1379 = 1527
1300 4 647 = 1947
446 + 1529 = 1975
1852 4+ 331 = 2183
9+29=11.9
744+7.8=15.2
42+22=64
0.34+0.5=0.8
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50% of 102 = 51
50% of 24 = 12
50% of 6 = 3

50% of 16 = 8
25% of 100 = 25
25% of 4 =1

25% of 48 = 12
25% of 44 =11
20% of 65 = 13
20% of 25 =5
20% of 30 = 6
20% of 90 = 18
136 + 422 = 558
282 + 376 = 658
649 4+ 1143 = 1792
1719 +63 = 1782
3.504+9.7=13.2

3+1.0=4.5
3.74+58=9.5
454+89=134



